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General Instructions :

(i)

(ii)

(iii)

(iv)

V)

(vi)

(vii)

(viii)

(ix)

(x)

31/1/2

The question paper comprises two sections, A and B. You are to

attempt both the sections.
All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to

be attempted separately.

Question numbers 1 to 3 in Section A are one-mark questions.

These are to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions.

These are to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks
questions. These are to be answered in about 50 words

each.

Question numbers 19 to 24 in Section A are five-marks

questions. These are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks
questions based on practical skills. These are to be answered in

brief.
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HT-H
SECTION-A

3G TESIA A7t % Uet & gewl % v-gF fafaw e yewmtors
Fﬂ{s’—Br%l

Write the molecular formula of first two members of homologous

series having functional group —Br.

TIFRET T8 SRR S R R 7 g faftr SAftres © st9ran sttt ?

How does Planaria reproduce. Is this method sexual or asexual ?

I I TRk qTie SRl /T ST 2 7

Why is forest considered a natural ecosystem ?

1S {40 cm ThaT ST % 3Tt GUU1 o T 40 cm g W@ R |
YU T o Wdferes & 9 STfieteqon i gt S5 |

An object is placed at a distance of 40 cm in front of a convex
mirror of radius of curvature 40 cm. List four characteristics of the

image formed by the mirror.

TTR(deh FETEAT o GO Sewed ol STTavashdl 1 & ¢ A9 il
T H g3 T A= R 7

Why is sustainable management of natural resources necessary ?

Why is reuse better as compared to recycle ?
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6. SATEAT SHifSU foh TAMT rm 1 Giiferd 291 o991 % g% Yoeed &
foru forg werR STt @ ?

Explain how would the involvement of local people be useful for

successful management of forests.

7. A e e wE g A
(i) CH3COOH+Na;CO3;—
(i)) CH4+0;——>
(iif) C,H;OH+Na——>
Complete the following chemical equations :
(i) CH3COOH+NayCO3—>
(il) CH4+0p——>

(iii) CoHsOH+Na——

8. @l e ARl X 3T Y & ] TF HAM: C3Hg AW C4H,o 1 5
3l B & formehl Terem stfufsran quia it o1freh Gura &1 wehdt 2 7
A I A g A 3@ yww F deher arfufsren A ufsen
e o fore vEmE e Tt of e |

Two carbon compounds X and Y have the molecular formula
CsHg and C4H, respectively. Which one of the two is most
likely to show addition reaction ? Justify your answer. Also give
the chemical equation to explain the process of addition reaction in

this case.
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1§ dcd P (W] T 20) Rt o= 9 Q (W] T 17) W
AffRaT ek I3 ATk sTaT @ | =l faw g st a1 o |fed S
S :

snyfies eTad "ot § P e Q it feufomt, dum p s Q i srfufsran
F s s 1 - forfa |

An element P (atomic number 20) reacts with an element Q (atomic
number 17) to form a compound. Answer the following questions
giving reason :

Write the position of P and Q in the Modern Periodic Table
and the molecular formula of the compound formed when P reacts

with Q.

MYk STTad TROf & Hed Tl 31K &fost e & T fafaw | fordt
Fed W H IR Y A9 TH | acdl & anfcss sifvcsn 8w afedd
g 2 7 ot afost ufe § it ot & aRff o S W ) B %
TEs § 91 qNEdE BIaT @ ¢ 3WIRE GH1 YT ok I o 98 H R0
e |

Write the names given to the vertical columns and horizontal rows
in the Modern Periodic Table. How does the metallic character of
elements vary on moving down a vertical column ? How does the
size of atomic radius vary on moving left to right in a horizontal
row ? Give reason in support of your answer in the above two

cases.
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11. HFa R AR WM #1&T § 3fed ifire TURET dfed el qorE
AT 1 3gW ST | =RSAT it o Al S 0 ared Sl h
Tafd H UREHT 3! T SThi H VR h! HEAT % HH foRd TR ol

WAl 3

Mention the total number of chromosomes along with the sex
chromosomes that are present in a human female and a human
male. Explain how in sexually producing organisms the number of
chromosomes in the progeny remains the same as that of the

parents.

12. T H 9 arel afed=l 1 3g@ it e 3

(a) o1 Tfia (STIfIE) &1 SR |

(b) HTET e / 3Ave i Fser e e |

State the changes that take place in the uterus when :
(a) Implantation of embryo has occurred.

(b) Female gamete / egg is not fertilised.

13. FE@IE, 56 : 3
(a) TANTE HIE HRET 3 9T H e ST e ?
(b) FrRfEeTm 6 uxht el ga | e St 2 7
(c) Rus IR 7579 3t ST (TARSET) ®e STt @ 7
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What happens when :
(a) Accidently, Planaria gets cut into many pieces ?
(b) Bryophyllum leaf falls on the wet soil ?

(c) On maturation sporangia of Rhizopus bursts ?

“grehfaek T R S Sgwen S fas w Ifid #a 2077 59 e
=1 gfe A |

“Natural selection and speciation leads to evolution.” Justify this

statement.

TeIF 1 TH-TF IS 3d gU IRl R STgafire @i & =
qiferent o &9 § fadeq hifse |

Differentiate between the acquired traits and the inherited traits in

tabular form, giving one example for each.

I 3 cm HaTE A o 12 om HieE g o TRt sTaae 9T o |
18 cm g W fod 21 3@ odur & forelt ud 1 feRat gt W @ St
=1fen aTfer 36 e W foral o1 Ta wfdforar feams 3 | widfora ot =g ot
afehford =hifsr |

A 3 cm tall object is placed 18 cm in front of a concave mirror of
focal length 12 cm. At what distance from the mirror should a
screen be placed to see a sharp image of the object on the screen.

Also calculate the height of the image formed.

31/1/2 8
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17. ®HE 93 geArt URR o geEdar § e o sl g § qiEdd o

18.

TohdT 2 3TN 38 TR il shl Bishy i1 uitafdd &t St 2 | Tt (a) T
& =, (b) Fiehe 1 a%g =1 S@d g7 Al T4 FI Fshar B 3R
HIFE g § T aTel TRl 1 3g@ I |

A A7 25 cm ¥ FA g W foa aggai =i, 7 =i fom ot aama
fou oy =t 7€ 3@ U, wE ifs |

With the help of ciliary muscles the human eye can change its
curvature and thus alter the focal length of its lens. State the

changes that occur in the curvature and focal length of the eye lens

while viewing (a) a distance object, (b) nearby objects.

Explain, why a normal eye is not able to see distinctly the objects

placed closer than 25 cm, without putting any strain on the eye.

TRt “waferet fegm’ W foenerd it wid el @ H Y TeH wa 3R

3T Ter fave W e & e g mn 2|

(a) TR o =TE o foTu STISTF Ta ol GRaat i oht ST =mfe ?

(b) & TRl a1 3uret <t gt sATsT ek fowe § serqde mrE
AT A9 =l § SRTERAT 379 AT STR S gl o Y|
IS WX o & | +ft TEwrs i |
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You have been selected to talk on “ozone layer and its protection”

in the school assembly on ‘Environment Day.’
(a) Why should ozone layer be protected to save the environment ?

(b) List any two ways that you would stress in your talk to bring in
awareness amongst your fellow friends that would also help in

protection of ozone layer as well as the environment.

19. (a) forerer =i it s oo sma Wb Hife |

(b) Toreft /e & fisw @ oA W STl w@q W % rawEt av
Tergn % &9 1 forvreh 41 €1 94 8, samen ifer ?

(c) TEUgN 1 ST AHITRA foR0T STR@ Ei=eRt guIisy |

(a) Draw a ray diagram to explain the term angle of deviation.

(b) Why do the component colours of incident white light
split into a spectrum while passing through a glass prism,

explain.

(c) Draw a labelled ray diagram to show the formation of a

rainbow.

31/1/2 10
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20. 3T o9 o YR B foret gt () % @y wfdfors gt (v) ® fommor =0t
2914 ATt e < A Segor qiferent st faveror fifse 3t gfemes g

forn & fr=ferfaa st & 3w difs -

& u (cm) v (cm)
1 -90 +18
2 - 60 +20
3 -30 +30
4 20 + 60
5 18 +90
6 -10 + 100

(a) 3ITA oiF ! BIRT G HT & 7 39 I & &1 H oy e |

(b) 3| equr i A Gt faflae s e 7= ? | 7 fswd s form
eI fehreT 7

(c) =g oft 3 T AR ULV T 4 * T yeRwr fRT @
Hifery X aT1ae 1 o 7= F19 i |
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Analyse the following observation table showing variation of
image distance (v) with object distance () in case of a convex lens
and answer the questions that follow, without doing any

calculations :

S. No. | Object distance Image distance

u (cm) v (cm)

1 -90 +18

2 - 60 +20

3 -30 +30

4 -20 + 60

5 —18 +90

6 —-10 + 100

(a) What is the focal length of the convex lens ? Give reason in

support of your answer.

(b) Write the serial number of that observation which is not correct.

How did you arrive at this conclusion ?

(c) Take an appropriate scale to draw ray diagram for the
observation at S. No. 4 and find the approximate value of

magnification.

31/1/2 12
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ThTST ToR0T STR@T T ToT S TH &9 UHET &1 foRT R g
Srehl ador & Tt % avend e S S et giar @ | v
31 foront it FEft STeT 3R STaae gUuT o TeRuT ® WIS o UvETd,
3 forott o uert o1 3g@ i | 5t S foRoTt =t 3, Stade
Td0 % T 3N Brwd o = fea et forear o wftforsr <t fearf,
ehTeT foRoT TR wieeR 91d e § if |

HE IFaA QU FH A 20 cm g W fem fedt foa
1 A AT srrafda wfafers w8 W aAmar @ | el forw @ foRat gt

w7

To construct a ray diagram we use two rays which are so chosen
that it is easy to know their directions after reflection from the
mirror. List two such rays and state the path of these rays after
reflection in case of concave mirrors. Use these two rays and
draw ray diagram to locate the image of an object placed

between pole and focus of a concave mirror.

A concave mirror produces three times magnified image on a
screen. If the object is placed 20 cm in front of the mirror, how

far is the screen from the object ?

13 [P.T.O.
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22. GEH R TYHISIR ST € AGUi ok YR B | 39 M1 § o= fafaw |
a1 I FeTs g A fran fafyr fafaw | w1ge wer s o Ty 3w
I &I S ? AT o TUH W feetsivel 1 3T A % HR0 I
B4 ol foed 3 guenatl s Sg@ hiiT |

Soaps and detergents are both types of salts. State the difference
between the two. Write the mechanism of the cleansing action of
soaps. Why do soaps not form lather (foam) with hard
water ? Mention any two problems that arise due to the use of

detergents instead of soaps.

23. e % TN g1 IE o TeRR T g3 o6
(a) AETOT TS ST AT B © ¢
(b) 31 AL T T BHT Th-GH & TG BT @ 7
How do Mendel’s experiments show that
(a) traits may be dominant or recessive ?

(b) inheritance of two traits is independent of each other ?

24. (a) HWEE F & 39 3 w1 A9 fARGC S 37RT0peA F i 6 "re-wy
T THM 1 G0 ft AT 2 | 39 G G S A A AR
e fafaw |
(b) WG HIET S a5 o 34 Wl o 4 ferfay stef fi=r g |
(c) =T i T3 wrar & IR o ofiax frerfed ga gor a1 g forg
TR BT 2 |
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(a) Name the organ that produces sperms as well as secretes a
hormone in human males. Name the hormone it secretes and

write its functions.

(b) Name the parts of the human female reproductive system where

fertilisation occurs.

(c) Explain how the developing embryo gets nourishment inside the

mother’s body.

-
SECTION-B

25. Ffcfaa | @ gHsTTa 1 o 9= i g 1

(a) e[ 3R foaeft & 7@

(b) TMES TR e[ o TG

(c) T, s TR federett & edTg

(d) faeft 3 =mmes v

Select the set of homologous organs from the following :
(a) Wings of pigeon and a butterfly

(b) Wings of bat and a pigeon

(c¢) Forelimbs of cow, a duck and a lizard

(d) Wings of butterfly and a bat

31/1/2 15 [P.T.O.
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26. = % IS o YU 1 9V A qea et B 3 A few stgEm o

fafra st <t g ors

SStTao, sfiSvegR, sfisvs, 3T e, T, Teria |

39 1 I s@eR ek wered A g feooft 1, fof 37 & shaa i 9w
& T € | 3 o wET A R = i

(a)  SfST, SftemaRoT, g

(b) fisTom, ST, HEATH
(c) SIS, 37d e, HATEL
(d) S, SSTUEER, T

A student while observing an embryo of a gram seed listed various

parts of the embryo as listed below :

Testa, Micropyle, Cotyledon, Tegmen, Plumule, Radicle.
On examining the list the teacher commented that only three parts
are correct. Select these three correct parts :

(a) Cotyledon, Testa, Plumule

(b) Cotyledon, Plumule, Radicle

(¢) Cotyledon, Tegmen, Radicle

(d) Cotyledon, Micropyle, Plumule

31/1/2 16

Schedule a Tutoring Session today!

Call Now: 91729 66488 &)

wWww . premacademy . com




Place for Rational & Educational Motivations!!

27. = fou wu @ § eAaa =, ffa i, suads o qen ity

foreomom =1 37eh 1, 2, 3, 37 4 g0 U A T form YR gt mn R ?

(@ 2,41,3

() 2,1,4,3
(© 1,2,4,3
d 2,1,3,4

The correct sequencing of angle of incidence, angle of emergence,

1

angle of refraction and lateral displacement shown in the following

diagram by digits 1, 2, 3 and 4 is :

(@ 2,4,1,3

(b) 2,1,4,3
) 1,2,4,3

(d 2,1,3,4

31/1/2 17
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28. = feu U 3@ 1 g 3ifehd v R :

(a) LAJR ZLe

(b) Zi,ZAIR 2D
() LA, ZLr3R Le
(d) ZA, Zr3W 2D

In the following diagram the correctly marked angles are :

(a) LAand ZLe
(b) £Li,ZAand LD
(c) LA, Lrand Le

(d LA, Zrand £ZD

31/1/2 18
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29. IfE 119 39 o g Rt e fora, fomeht oafa = € TS R, &

yferforest =1 98 9T Hrenféd d g,
1
a1 9< W 39 forr o wfafernsr it emepfa arft:
(a) ! (b) (c)
!

(d)

If you focus the image of a distant object, whose shape is given

below, on a screen using a convex lens,

the shape of the image of this o

(a)

31/1/2

1

1

(b)

(c)

Schedule a Tutoring Session today!

Call Now: 91729 66488 &)

19

bject on the screen would be :

dr—

wWww . premacademy . com

[P.T.O.




Place for Rational & Educational Motivations!!

30. o BET A, B 31t C 7 foreft ey e &1 s1aaa g9 il gedr § ud

T hIshied oA | eraae vl Rt B gt et w6 fore 3=
freafefad gfef ard -

B A : T H U qoh ht gl

B B : WA § U8 a%k i gt

BE C : 9o | Y1 o 6t g

el B g AU FTeT /AT 3E R /3

(a) FHIA A

(b) Faa B

(c) A3IMB

(d) B3R C

Three students A, B and C focussed a distant building on a screen

with the help of a concave mirror. To determine focal length of the

concave mirror they measured the distances as given below :
Student A : From mirror to the screen

Student B : From building to the screen

Student C : From building to the mirror

Who measured the focal length correctly :

(a) Only A
(b) OnlyB
(c) AandB
(d) BandC

31/1/2 20
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31. EWETE § "R i rfufsen i qwia / el % o aa
R & o1 <t foam T i | wS el 31fieh 3uh W@ ?

(a) THI 1 9 3T HicHan ezgiaaTse

(b) TUE I de 3N HicHTm TrggiaTze

(c) AREH =1 det 3T HifeaH TEeiaTse

(d) TTEl 1 dd IR AT TEgiTse

For demonstrating the preparation of soap in the laboratory which
of the following combinations of an oil and a base would be most
suitable ?

(a) Mustard oil and calcium hydroxide

(b) Castor oil and calcium hydroxide

(¢) Turpentine oil and sodium hydroxide

(d) Mustard oil and sodium hydroxide

32. Tordfl ® 9 =R WAt P, Q, R 3R S & 37 Jeish | @+ 8 mL
YA ST W | qeavaTd, 384 W@t PH Na,SO4, Q# K,S0,, RH
CaSOy4, S # MgSO,  THH HET Hic | Y WEc | I &
oo & T 9T fieTe o7t 38 well-yaR faeifed & w3 =
ATl | YATH O | ST TE B, 9 Wt © -

(a) P3iQ
(b) P3W R
(c) P,Q¥R S
(d) QR3S

31/1/2 21
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A student took four test tubes P, Q, R and S and filled about 8§ mL
of distilled water in each. After that he dissolved an equal amount
of Na,SO4 in P, K,S04 in Q, CaSOy4 in R and MgSOy in S. On
adding an equal amount of soap solution and shaking each test tube
well a good amount of lather will be obtained in the test tubes :

(a) Pand Q

(b) PandR

(¢c) P,QandS

(d Q,RandS

IS I8 IR WEAfdl, A, B, C 3R D ¥ FA: Gifean Fete,
Tifeam Feirige, T4 1 UM R it foremw 1 foamm w21 W @
fopg / for wAforl o uared 1 3TN UHITE | UdAiseh o7 o TRl
Ttegur o foTT ST 3Uh BT 7

(a) Fad A

(b) A3IMB

(c) B3R C

(d) AIRD

You have four test tubes, A, B, C and D containing sodium
carbonate, sodium chloride, lime water and blue litmus solutions
respectively. Out of these the material of which test tube / test tubes
would be suitable for the correct test of acetic / ethanoic acid ?

(a) only A

(b) AandB

(¢c) BandC

(d) AandD

31/1/2 22
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34. FIE BHE 10 cm HIFY G 1 ITA 8 o HIHERA 31 ST i g |
T 60 cm T W T@AT 8 3R ST & Ufdforsr &1 96 W Bk
FTAT B | 36 vETq 98 sarer b eR-¢fR g il 3R e S 2
TR 0 IR ferferar ol U8 W Brenfa i Far 2 | 2

(a) SO o Tfdfersl o1 HIeRfad i o fou a2 9 =l fore 3T aehman
- O I SR a7

(b) fcferr 3 drgst § . fterd= g @ ?

(c) SaTeT ol & o fepe @ wfforsr st digar d o afed g
27

(d) G 8 e TRt g W ST Bl WaH T 3HHT THH HISS 1 3ol
yfefores s 2 ?

A student places a candle flame at a distance of about 60 cm from a
convex lens of focal length 10 cm and focuses the image of the
flame on a screen. After that he gradually moves the flame towards

the lens and each time focuses the image on the screen.

(a) In which direction-toward or away from the lens, does he move
the screen to focus the image ?

(b) How does the size of the image change ?

(c) How does the intensity of the image change as the flame moves

towards the lens ?

(d) Approximately for what distance between the flame and the
lens, the image formed on the screen is inverted and of the same

size ?
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36.
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A gas is liberated immediately with a brisk effervescence, when
you add acetic acid to sodium hydrogen carbonate powder in a test
tube. Name the gas and describe the test that confirms the identity

of the gas.

3G AR S % YRR 1 9 fafge S ws SHe Fifden @ @
Gafd iRt 1 Fmio gar 8 3R S Hife &1 Afdcd aum &
ST B | 3H AW =0T T 3gW@ ST S8 389 TR & S 1 3TET

TIAT 2 | 39 S % U8l 2l =0T o 3 difsu |

Name the type of asexual reproduction in which two individuals
are formed from a single parent and the parental identity is lost.
Write the first step from where such a type of reproduction begins.

Draw first two stages of this reproduction.
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